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�	
  Comment	
  s’appelle	
  la	
  tribu	
  de	
  Petit-­‐Féroce	
  ?	
  
 les	
  Renifleurs.	
    les	
  Cavernois.	
    les	
  Marmicreux.	
  

	
  

�Qui	
  est	
  Arbre-­‐Rouge	
  ?	
  	
  
 C’est	
  le	
  père	
  de	
  Cerise	
  qui	
  mord.	
  	
  
 C’est	
  le	
  meilleur	
  guerrier	
  de	
  la	
  tribu.	
  	
  
 C’est	
  le	
  sorcier	
  de	
  la	
  tribu.	
  

	
  

�Quel	
  est	
  le	
  remède	
  contre	
  les	
  glaglafraises	
  ?	
  	
  
 Il	
  n’y	
  a	
  pas	
  de	
  remède.	
  	
  
 Un	
  mélange	
  de	
  caviarantropithèque	
  haché	
  et	
  de	
  truffaudocus.	
  	
  
 Des	
  frambreuboises	
  violettes.	
  	
  

	
  

�Contre	
  qui	
  Arbre	
  Rouge	
  gagne-­‐t-­‐il	
  le	
  combat	
  des	
  sorciers	
  ?	
  	
  
 Cerise	
  qui	
  mord	
    Tigre	
  noir	
    Grand	
  Féroce

�Pourquoi	
  Petit-­‐Féroce	
  doit-­‐il	
  se	
  rendre	
  sur	
  l’île	
  au	
  milieu	
  du	
  lac	
  ?	
  	
  
 Il	
  doit	
  aller	
  chercher	
  des	
  pierres	
  de	
  lune.	
  	
  
 Il	
  doit	
  aller	
  chercher	
  un	
  cadeau	
  pour	
  Cerise.	
  	
  
 Il	
  doit	
  aller	
  chercher	
  des	
  pierres	
  précieuses.	
  	
  

	
  

�Comment	
  Sifflotin	
  parvient-­‐il	
  à	
  se	
  débarrasser	
  du	
  monstre	
  du	
  lac	
  ?	
  	
  
 en	
  lui	
  faisant	
  manger	
  des	
  glaglafraises	
  empoisonnées.	
  	
  
 en	
  lui	
  lançant	
  une	
  arme.	
  	
  
 en	
  lui	
  proposant	
  la	
  recette	
  de	
  ses	
  boulettes.	
  	
  

	
  

	
  

6 bonnes réponses? 
Bravo! 

Tu obtiens 12 
points. 

5 ou 4 bonnes réponses ? 
C’est bien. 

Tu obtiens 5 points. 

Moins de 3 bonnes 
réponses ? 

Relis le livre et 
retente ta chance ! 

 

	
   Petit féroce n’a peur de rien	
  
Paul	
  Thies 

 

Score : 
…../12 


